Notation Scientifique (C)

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

2500 = 617 000 =

6 253 000 = 200 000 =
9,26 X 108 = 714 000 =
9,343 x 106 = 54 %108 =
48 700 = 4701 x 108 =
322 000 = 598 000 =
6,694 x 108 = 136 500 =
8,2 X 107 = 6,17 x 103 =
1,21 x 108 = 2,3 X 10° —
4402 x 103 = 4530 =
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Notation Scientifique (C) Solutions

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

2500 = 2,5 % 10° 617 000 = 6,17 x10°
6253 000 = 6,253 x10° 200000 = 2 x 10°
9,26 x 10° = 926000000 714 000 = 7,14 x10°

9,343 x 10° = 9 343000 5,4 % 10° = 540000000
48 700 = 4,87 x 10* 4,701 x 10° = 470100 000
322 000 = 3,22 X 10° 598 000 = 598x10°

6,694 x 102 = 669400000 136 500 = 1,365 x 10°

8,2 x 107 = 82000000 6,17 x 10> = 6170
1,21 x 108 = 121000000 2,3 x 10° = 2300000
4,402 x 10° = 4 402 4 530 = 453x10°
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